
组会报告
敖冬

2018/9/18 Group meeting 1



Modeling 𝑃 log 𝜒𝐼𝑃
2 𝑀

• Use TMVARegression method

• 𝑃 log 𝜒𝐼𝑃
2 𝑀 =

𝑃 log 𝜒𝐼𝑃
2 ,𝑀

𝑃(𝑀)

• Get 𝑃 log 𝜒𝐼𝑃
2 , 𝑀 and 𝑃(𝑀) using RooNDKeysPDF and RooKeysPdf

• Using log 𝜒𝐼𝑃
2 and M as input variables for training , 𝑃 log 𝜒𝐼𝑃

2 𝑀
as regression target.
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Input variables
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Correlation
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𝑝𝑑𝑓𝑟𝑒𝑔𝑟𝑒𝑠𝑠𝑖𝑜𝑛 − 𝑝𝑑𝑓𝑡𝑟𝑢𝑒
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Problem 

• 𝑃 log 𝜒𝐼𝑃
2 𝑀

• Meet some problem binding this external function as a p.d.f. in RooFit
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X- log 𝜒𝐼𝑃
2 ,Y-(𝑝𝑑𝑓𝑟𝑒𝑔𝑟𝑒𝑠𝑠𝑖𝑜𝑛 − 𝑝𝑑𝑓𝑡𝑟𝑢𝑒)/𝑝𝑑𝑓𝑡𝑟𝑢𝑒
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(𝑝𝑑𝑓𝑟𝑒𝑔𝑟𝑒𝑠𝑠𝑖𝑜𝑛 − 𝑝𝑑𝑓𝑡𝑟𝑢𝑒)/𝑝𝑑𝑓𝑡𝑟𝑢𝑒
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X- 𝑝𝑑𝑓𝑡𝑟𝑢𝑒 ,Y-(𝑝𝑑𝑓𝑟𝑒𝑔𝑟𝑒𝑠𝑠𝑖𝑜𝑛 − 𝑝𝑑𝑓𝑡𝑟𝑢𝑒)/𝑝𝑑𝑓𝑡𝑟𝑢𝑒
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